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INSTRUCTIONS:

e Answer question ONE and any other TWO questions.
» Question ONE carries 30 marks.
¢ The rest of the quastions carry 20 marks each
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Question One (Compulsory)

i) Econometrics is a combination of economic theory, mathematical economies
and statistics, but is completely distinet from each of these three branches of
science, Explain.

{6 marks)
i) Differentiate between Theoretical and Applied econometrics.

(2 marks)
i1i) Suppose that a researcher estimated a consumption function and ob

tained the
results from EVIEWS as in Figure 1, however,

there was somewhere
malfunction of the printer and did not print out sewme

part of statistics
information.
(a) Caleulate the t-statistics of each coefficient in Figure 1. (4 marks)
(b) Construct a 95 percent confidence interval for the coelficient of PDIL
(3 marks)
(cyUse the statistics information from Figure | to calculate the SE of
regression, (3 marks)
{d) Use the 5% significant level of t-values 1o test the hypothesis that PD1 is a
statistically significant independent variable. (State the hypothesis and
statistics to be tested). {4 marks)
(e) What does the Durbin Watson statistics in the i

gure 1 measure interpicet its
value (Hint: &, =1.077 and d, =1.361 at 0.05 significance level) (2 marks)

(f) Using the information provided in figure 1, is R*significantly different from
zero. Explain.

{2 marks)
(g) Is the regression spurious? Explain. (2 trarks)
Figure 1
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Juestion Tweo

a) Distinguish between the following terms as used in econometrics
1) One tailed test and two tailed test
ii) Significance level and degree of freedom

i1} Type I and Type !l errors (6 marks)
b} Explain the meaning of multicollinearity and discuss its sources and practical
consequences in time series analysis (14 marks)
Question Three
a) What is meant by autocorrelation and why is it a problem in econometric
analysis of ume series (6 marks)
b) How is the presence of positive and negative first order autocorrelation tested
and how is it corrected. (7 marks)
¢} Why can the following consumption function not be estimated?
C, =b, + 5, +b, Y, +5AY, +u, where AY, =¥, -F,,
d) Giving examples explain the difference between time series data and cross
sectional data : {4 marks)

Question Four

a) State and explain each of the assumptions of the classical linear regression
model highlighting the need for each one of them in econometrics (10 marks)
b) Differentiate between zero correlation and statistical dependence between two

variables X and ¥ (5 marks)
¢) Discuss the factors to consider when choosing an appropriate econometric
technique {5 marks)

Question Five

a) Heteroscedasticity is a problem of cross sectional data; discuss how it can be
detected in econometrics. (14 marks)
b) With reference to the following multiple regression model
Y =b, +bX, +b, X, +u . Explain the meaning ofé,, 5 andb,. Areb,, b and b,
BLUE? (Proof is not necessary). {6 marks}



